13000 GeV pp u

< — T T T T T T T — T T T T T 0
> f ' ' it
© — p'T (ATLAS dileptonic ttbar) n %
=107 =3
o — 4
= — — Al
= - s
3 N 1
- EEg 4
@ 1072 m!\ _|o
— — ) | 9.2
— — N [
- m ATLAS B n
| Pythia 6.428 358 |
---&-- Pythia 6.428 351 "\@\ -
-3 | X __|©
10" E= - ¥-. Pythia 6.428 352 o 35
- A Pythia 6.428 353 ‘m - o
. --0-- Pythia 6.428 354 s 49
— --%-- Pythia 6.428 355 T 12
104 |~ Pythia 6.428 356 ‘*%\wﬂ K
= Pythia 6.428 357 1<
- Pythia 6.428 358 mlis
— = Pythia 6.428 359 18
| — O
o
107° = g
S S S SO R S S = b
2 E -2
0 — _
< — ]
- - |
|_
< B ]
e 1 1
.0 B
= B i
o i |
0.5 — —0.5
1 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 100 200 300

Lepton P, [GeV]



	Contents
	Page 1


